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S Z3H S (FAH) - NRAIY - BHAES Off A OH Il ¥ Hlns2t

S 2HAbA 8,999,063 11,106,779 A2,107,716
< 22,646 22,646 0
z 8,976,417 11,084,133 ~2,107,716
HEHHUI(OI=2ArA) (JIEHDIEH 89,152 96,704 NT,552
Jl23| 67,972 75,524 AT ,552
Jl23| 67,972 75,524 AT ,552
201 LA 35,230 39, 144 A3,914
01 AFR22/Hl 33,610 37,344 A3,734
OA2ZEIH olarEA2 -3,734,0002 N3,734 0 A3,734
02 B2l 1,620 1,800 A180
O=Z229H oa=u=2 -180,000 A180 0 A180
202 O] 32,742 36,380 A3,638
01 20 32,742 36,380 A3,638
O=U0oiHl ol -3,638,0002 A3,638 0 A3,638
28 L TH(LUSSHY/ALHE) 1,359,690 1,329,854 29,836
[ 22,646 22,646 0
= 1,337,044 1,307,208 29,836
I8 L B 235,271 251,190 A15,919
DHABHY L TH 199,726 215,140 A15,414
201 L9 50,626 45,140 5,486
01 AFR22/Hl 50,626 45,140 5,486
OSBRI ZMSALAHA S BTl 50,0008 x200 2 * 13 10,000 0 10,000
OAMRE2IH oarRA2 -4,514,0002 A4,514 0 A4,514
202 0Oit] 7,200 8,000 A800
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SA B SA(BH) - MBAY - BES arey pJE-L s
01 =AY 7,200 8,000 A 800
O=oHl a2 -800,000& A 800 0 A 800
301 et ez 900 1,000 A 100
10 HALAHIZ &3 900 1,000 A 100
OYAIAHIE2d = MBS =E -100,000& A 100 0 A 100
308 NXISHHMSOIH 2,000 22,000 A20,000
05 MXIEH2ARES 2,000 22,000 220,000
OXNXHMAE HLXTH ZSAMY BEES o3 0 12,000 A 12,000
OJIoI23td XNHgd SSAEY 2= 2,000,000& 2,000 10,000 8,000
2ot ¢ gutael 35,545 36,050 A505
201 LEH2HH| 3,645 4,050 AN405
01 AtER22lHl 3,645 4,050 A405
OAtR2t2dl a2 S &2 -405,000& A405 0 N405
301 LetEas 900 1,000 A 100
12 JIet24a= 900 1,000 A 100
OJIEt24a=2 HaEd=2 -100,000& A 100 0 A 100
AHME2E 324,299 340,969 A 16,670
NeEME2d 286,030 302,700 A~ 16,670
201 Let2El 48,330 53,700 A5,370
01 AtR2teld] 38,430 42,700 A4,270
OArS 22ldl HaEZE -4,270,000& A4,270 0 A4,270
02 3223l 9,900 11,000 A 1,100
O=3=2gHl daz2g= -1,100,000& 21,100 0 21,100
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SN SR(H) - 0l & 24 013 o fmE=£1
(Ghs] 179,000 190,000 A 11,000
=L 99,000 110,000 A 11,000
O=oHl HaE2=2 -11,000,000& A 11,000 0 A 11,000
BB A Z 2,700 3,000 A 300
HAIAMHIEAZ 2,700 3,000 A 300
OdMAHIEAS HMETE -300,000& A 300 0 A 300
2 HHEF 248,343 154,065 94,278
== 22,646 22,646 0
= 225,697 131,419 94,278
f Fd Y XY 182,292 85,680 96,612
2B AHH| 27,342 30,380 A3,038
AFS 22|l 27,342 30,380 A3,038
OAtR 22t HaEHE -3,038,000& 23,038 0 23,038
o4l 3,150 3,500 A 350
=LH0dHI 3,150 3,500 A 350
O=UWHHl oaE2=2 -350,000& A 350 0 A 350
thass 151,800 51,800 100,000
that=S 151,800 51,800 100,000
OLEHA HiAZ = 150,000,000 150,000 50,000 100,000
SHEAL & =22 14,796 16, 104 A 1,308
2B A 9,976 11,084 A 1,108
01 AtR22/Hl 9,976 11,084 21,108
OAtR 22/t HaEHE -1,108,000& 21,108 0 21,108
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Y PESE Y AN(YLTBTHE/LoHE)
Sl HIWS U YRYR (ol @2
SH-HH . C(BH) - HRAY - B2 Ofl AF o4 plE-] SImE=F}
202 O4Hl 1,800 2,000 A 200
01 WY 1,800 2,000 2200
O=ZUHOHHl HaEZ2 -200,000& A200 0 A 200
SHSH A 47,986 49,012 21,026
S 19,377 19,377 0
= 28,609 29,635 A 1,026
201 Let2HH| 9,233 10,259 21,026
01 AtE22|H] 9,233 10,259 21,026
OASR2teHl HaEZE2 -1,026,000& A 1,026 0 A 1,026
SAIZ =g ¥ RIS 15,415 16,850 A 1,435
P2 ZTA2E 15,415 16,850 A 1,435
201 LetEIH| 5,715 6,350 2635
01 AtER22/Hl 5,715 6,350 AB635
OAtR2t2dl a2 ZE -635,000& A635 0 A635
202 O4H| 7,200 8,000 A800
01 2Uoit] 7,200 8,000 A800
O=Hoibl oarEe ~800, 0002 A800 0 A800
TEELSLS 536,362 566,780 230,418
SEAA ¥ BEYH 280,762 311,180 A 30,418
201 Lt 262,206 291,340 N29,134
01 AtS 22l 256,590 285,100 228,510
OAtR22/Hl a2 2 & -28,510,000& A28,510 0 A 28,510
02 ZE=234l 5,616 6,240 A624
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Fu: PHSS Y RT(YUTTUT/YHE)

Sel 2B CEERED

SN HH . C(B) - MRAY - BHS Aol Tl =2

O3323Hl HazELE —624,000& A624 0 AG24

202 Ofb 0,800 12,000 A1,200

01 =AY 10,800 12,000 A 1,200

O=UWAHHl HaEZ=2 -1,200,000& A 1,200 0 A 1,200

301 Let2a=s 756 840 N84

10 HAAHIZ2 &3 756 840 N84

OBAMHIBAZ HMEDE ~84,000%! A8 0 ~84

[gigl(alelgl/oiulgl) 2,610,091 4,740,091 , 130,000

oyl gl 2,610,091 4,740,091 , 130,000

ol gl gl 2,610,091 4,740,091 , 130,000

801 OlHIHI 2,610,091 4,740,091 , 130,000

01 ol 2,610,091 4,740,091 , 130,000

ool 2,610,091,0002 2,610,001 4,740,001 130,000




